< 00, > (M)

<opyp, > ()

Ratio

<d @> (rad)
o
=
a1

o
[N

o
N

.....................

-3 -2 -1 0 1 2 3

TP n (PCA to beamline)

< o cot(y) >

....................

....................

[
PETETETE WA e | 1 1 PP | AP AP
L.l : L

0 1 2 3
TP n (PCA to beamline)

—s=— DQM_V0001_R000000001__Global__cmssw__RECO
—— DQM_V0001_R000000001__Global__mkFitNew__RECO

100r

b

-2 -1 0 1 2 3
TP n (PCA to beamline)

kS é
g ?
RIE {
HIE ?
B ;
RIE
E L, i
E ... R .-

L

2 3

TP n (PCA to beamline)

= 100

SO0 R A P
LR SR HEd
3 -2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


